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(vii) gy § gEF @Y @ g [y 7@l &l @Y 5
75 g g gea 7 aak® g7 HeTT B Ty
& 07 golt 7 & oIvH BIT TF & FIT A &1

There is no overall choice. However, internal
choice is given in all long answer type
questions of S marks each. You have to
attempt only one of the given choice in such

questions.

Tl F, CL O R N & ST el & o) |
I TS A e o d gt

(A) F>Cl>O>N

(B) F>O>CI>N
(€) Cl>F>0>N
(D) O>F>N> (I

Out of F, CI, O and N elements, the correct

order of their chemical reactivity in terms of
oxidizing property is -

(A) F>Cl>O>N
(B) F>0>cIsn
(C) Cis F>ospn
(D) O>F> N>y
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2. UFT (Hy0)% o1 § aiferfior e deheor ardedt 7 2 7

(A) sp B) sp’

(C) sp” (D) dsp®

1

In H,O molecule, the correct hybrid state of

Oxygen is :
A) sp (B) sp”
(C) sp° (D) dsp?

3. O @ HHS TS fhdeT Bl & 7

(A) 99.0°C (B) 100.0°C

(C) 100.6°C (D) 99.6°C

Standard boiling point of water is :

(A) 99.0°C (B) 100.0°C

(C) 100.6°C (D) 99.6°C

4. T & pH feer g & 7
(A) 7.4 (B) 6.8

€) 6.4 (D) 7.8
1329
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The pH of milk is :

(A) 7.4 B) 6.8
(C) 6.4 (D) 7.8
5. Cuy0 ¥ FYT %1 SAfFdiehRor Gear fhae & ? 1
A) -1 B) -2
(C) +1 (B) +2

The oxidation number of Copper in Cu,0 is :
A) -1 | (B) -2

(C) +1 - (D) +2

6.. T H F-A1 FH A WS 757 2 7 1

Hgy
(A) @ (B) (5
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Which of the following organic compounds is not
aromatic ?

Hj

Fe SIEATFEE (CO,) o1 A & foht HHLoT Fee
%7 1
(A) sp (B) sp°
(€) sp® (D) dsp:2

In CO, (Carbon Dioxide) molecule the carbon is
in which hybrid state ?

(A) sp (B) sp?
(C) sp° (D) dsp?

. 8T gt ST TR W R aXE e 7 f

(A) Li'>Na'> K'> Rb'
(B) Li'<Na'< K'< Rb'
(C) K'sLi'> Rbh' > Na'

(D) K'<Li'<Na'<Rb'

P.T.O.
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The hydration enthalpies of alkali metal ions

show following order :
(A) Li*>Na*> K*> Rb"
(B) Li*<Na*< K*< Rb*
(C) K'>Li'>Rb'>Na"

(D) K*'<Lit<Na*<Rb"

BIESIo & qRdT bl T fhaet & 7 1

(A) 4 ._ (B) 3
(C) 2 (D) 5

How many isotopes Hydrogen has ?
(A) 4 (B) 3

(€) 2 D) 5

10. TR &4 @ e a1 i @ &y S ¥ 7 -

1329
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Thermodynamically the most stable form of

Carbon is :
(A) Diamond (B) Graphite
(C) Fullerenes (D) Coal

11. AR 0T #, 370 § BE-91 Uh SN Sa-Bharst H fRe

7&T ol 7 1
A) KV (B) Na*
(C) Ca™ (P) Ra**

Out of thesc ions which one does not perform
any biological functions in our body ?

(A) K* (B) Na*

(@) Ca** (D) Ra'*

12, BEIISH F AMS sqFs fawa fea e 8 ? 1
(A) 0.1V (B) 0.0V
(C) 1.0V (D) -0.0V

The standard electrode potential (E°) of hydrogen

gas clectrode is :
(A) 0.1V (B) 0.0V
(C) 1.0V (D) -0.0V

1329 P. T B
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14.
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(10)

(A) 3.5 (B) . 4.5

(C) 3.0 (D) 4.0

The electronegativity of F atom is :

(A) 3.5 (B) 4.5

(C) 3.0 (D) 4.0

1329

1

FIE SEIAFES (CO,) T ® Hilasw ¥ (Tx) 31 d

P & 7

A) 33.98°C
(B) 30.98°C
(C) 27.98°C

(D) 37.98°C

1

The critical temperature () of CO, (Carbon

Dioxide) gas is :

(A) 33.98°C
(B) 30.98°C
(C) 27.98°C
(D) 37.98°C
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15. fTICET & R AR somm & ofeem &fmw o
(1) COs
(i) CHy
Calculate the molar mass of the following :
i co,
(i) CHq4

16. STRA & SH NS H Ul o= s iy, R
SZHM BRI 69.9% M 3K 30.1% Sl 2
| ' 2

Determine the empirical formula of an oxide of

iron, which has 69.9% iron and 30.1% dioxygen

by mass.

17. 2.0x10710s @ el SBT AT B TEREH, SR
AR TE-GEAT B IO BT 2
Calculate the wavelength, frequency and wave-

- number of a light wave whose period is
2.0x107 19,

| P —— —
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20.

21.

22,
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oo @ SrffkaneieT W (F > €1 > Br > I) I
AT FifoTa| 2

Explain the reactivity order of Halogens
(F> Cl> Br> I).

300.0 K W % s & fow g Remis 10 R
AG® & | F1 BN ? (R =8.314 JK 'mol™!) 2

The equilibrium constant for a reaction is 10.

What will be the value of AG® = ?

(R =8.314 JK 'mol™, T = 300.0 K)

Hy0p %8 O 1% & &9 & &1 gy © 7 ey
T 2
How does H,0, behave as bleaching agent ?
Explain.

tﬂ%@m(mﬁgﬁﬁrﬁﬂ‘@mw@wmﬁmﬁa
& ? TRy 2
Explain why is Na less reactive than K ?

T ANE o e av ¥ 2 FE 5

Is Boric acid a Protic acid ? Explain.
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23.

24.

25.

26.

27.
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g AU 58 YR @e & W9 F B o 96 E 7 2
How can domestic waste be used as manure ?
S-S0 & & HROT R E ? GHNEY 2

What are the major causes of water pollution ?

Explain.

B9 (CH,) T FN (Cly) @ SIHisear i ishaniaty
HHARUI 3

Explain mechanism of reaction of Cl, (Chlorine)
with CH4 (Methane).

S22 @ wew (R) @ oy (o) dREAl
TEY IH ¥ A0 qEEgd H FEUHiE Ied el &
AR 4 7 | 3
Draw the cis and trans structures of hex-2-ene.
Which isomer will have higher boiling point and

why ?

WY oTHae & ar) H oY R’ SIS 8 7 3

What do you know about Steam Distillation ?
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29.

30.
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TR g & g H Y F SN & ¢ 3

What do you know about Inductive Effect ?

aifafear 3T gY, fos @ R Bdmi F ogelde g
SRR aa1 eEgles AN § eEgleied (HI)
HT AT AGEEF ol | 3
Justify giving reactions that among halogens,
fluorine is the best oxidant and among
hydrohalic compounds, hydroiodic (HI) acid is

the best reductant.

TE a9 R Bl W D 2.9 IW 5999 F 95°C a
0.184 I H, & 17°C W GE 9§99 21 N9 @
T ZHHM S i 3

2».9 gram of a gas at 95°C occupied the same
volume as 0.184 gram of H, at 17°C at the
same pressurc. What is the molar mass of the

gas ?

-l 1 B ¥ ? @ Ak ¥ Rew @
SREIEY 3

What is enthalpy of solution ? Explain in detail.
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2ot ol & ar ® ey & S & ?

What do you known about Cathode Rays ?
SRC]|
OR

sErTST-fergq e ) e e feaqelt fereh

Write a detail note on Photoelectric Effect.

‘A T H IETEI A (AR | AR 5
Explain in detail 'bond enthalpy' with example.
SR

OR

fegg omet @@r A ¥ 7 B @9 IO gu R @
TP AT B |

What is dipole moment ? Explain in detail with

an advantage.
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34. pH Sd $ IRAE F TY 5HH GER § IR

Define pH scale and explain in detail.

N

ST

OR

<maaw&m¢a%aﬁﬁm¢mwn%am:mnamﬁ%%?
REALE & BCor g ree | e B |

What do you know about Arrhenius concept of
acids and bases ? Explain in detail with

cxamplc.




